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2 1. Which of the following best fits in the blank? SR
)
Jack Nicklaus's success on the golf course, and the m
increase in the size of his bank account, @ concomitant SHists, ARGHE, SAIN M=
had made him the envy of all professional golfers. = concurrent, simultaneous
@ oscillating dsote SQdte
@ concomitant ® festering UZAst=
@ oscillating @ fledgling sigotel ZWoI
® vignette W o£0| X2 M, W2 AMA

® festering
@ fledgling
® vignette

M U229A0 ZHOAHS A2 19 SHEs HEO SoiUs 1
L ooe
= =

2H2.
2N 2. Which of the following best fits in the blank?
X
=2l ©
Draconian laws are the first written code of laws (Dbenign aEE, N2
drawn up at Athens, believed to have been ®@ vigilant &l 26t EXLP RS

® harsh H
2

introduced in 621 or 620 B.C. by a statesman named o
@ auspicious FArAR

o

=
- L
02 Mo

29 = ® propitious

Draco. Although their details are obscure, they draw up A Athens O

0x
Mo
1103

written code of laws

apparently covered a number of offences. The introduce £AJM3ICH, =BHCH statesman FXIJb details AR AHE

modern adjective “Draconian,” meaning excessively obscure 258, =E¥SE apparently £¥5l a number of ¥
. . . 2| B (GH 2 H=2 PN =35}

, reflects the fact that penalties laid down in offence AU(AF) adjective FEA harsh =, b=, A

excessively XILIXIA  reflects BFHotCH, EBHAFGHCH laid down MOi&l

the code were extremely severe: pilfering received i} _ _ .
y b 8 code H(X&) severe 2, S&, A6 pilfer TS25ICH, EXICH

the same punishment as murder death. A murder 29l politician X2l quip HIRCH
4th-century B.C. - politician quipped that Draco el Draconian lawS JI29& 621 0lLt 620820 Dracozts ®Xlel0|
wrote his laws not in ink, but in blood. 25t OFEILIONAl BHSOIX & %0 H2YOICH XM LIS 2HX %X
O 0 MES ol2 AYHSISS OEE 20F 2L AU =S
@ benign olete 20l2 ol Al2EE “Draconian’0l2ts E@EAts X200
® vigilant YAIE YUHSO| XU HSHCE AMS 2UHFD UCH © CSHD
® harsh A0I0] £20] AMEOlHE MES UCH JIYE 4MDIS & Fee

|12

0 O g 230+ otlet m2 & 2A0Iet] HI0RUACE

® auspicious

I

] 517t S0 2R0M Ho 2HE N =2

extremely severeE 21 excessively harsh

® propitious
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2M3. Which of the following is NOT grammatically
correct?

A renaissance man is a person who Dis skilled in
many fields and has a broad range of learning in
many subjects. The term, renaissance man,

@originates  from the artists and scholars of

European Renaissance, ®such as Leonardo Da Vinci
or Michelangelo. In Renaissance period, educated
men @aspired becoming a multi-talented man. They

®were expected to speak several languages, to
appreciate literature and art, and to be good

sportsmen as well.

2M4. Which of the following is grammatically
correct?

@D The 3rd International Geography Conference will held
in Seoul.

® I was so hurted when Susan left me.

@ If the weather had been better, I would have been
sitting in the garden when he arrived.

@ It is very kind with him to invite me over for his
80th birthday party.

® She has came up with some amazing scheme to
double her income.

ZH3
@

subject A, 2=, =0, DIIA&X, 32! scholars &AXt such as ~ &
2 period AICH, D12} aspire Z2otCt multi-talented CHUCHsS
appreciate 2H46tCH OloHotCH, ZIIGICH as well SAl, L&t
il SUlAAA DAON(ZES XAY DY AR L2 SOHIA =&
0 Ee SIR0A Z2ERE XAS IOt ALZO0ICH S2UlatAal et
A

olgt 80ls diuzsz o ¢

re

XLt AITH
o Ot STNHSZRE Rl AHOICH SUYA AITHOA XIAE2
CHTHCHS 8 AFEIOl EID1E SYRILH OS2 0l A0E FAtctl 28t
=S 28 2 20 8 E2 2SI E X222 JIHHUATH

sH&
O skilled & ESAZAH %= ESO0ICH
@ originate vt. ~& 29J|Ct, &= 5ICH
vi. + from ~0lA AIZGHCEH HIREICH
NSAtE Mol ZEo=z NMEGIC
® such as = like ~Ze
@ aspire + to Rl EEZ MOIC}
[t2tA becomingE to become22 11X OF

o

Ct.
® People expected them to speak several languages, ~ ~
= They were expected to speak several languages, ~ ~

= H4.
®
be held JHZ EICH come up with #426HUICH scheme A&
S &
@ H3a 2 Xe2lstsot M20AM JHElE 220ICH
helde SH0Jt AN =SEH2 HHHOFSHCH
held — be held Wzl IC
@ #T0l LE HS M Lis DFS0l U2 OREC.
hurt o A BAHSA= 22 HEHOICH.
hurted — hurt
@ Mt O EUAGH, Us 00 SHHS O FA0 2ot AAS 210!

OH8Y mHet=2 If S had p.p ., S would have p.p 2 2& & EH
S JIX1 UM Y= ESHO0ICH D2l OJF SHUSME Lol AELE
A2 UHEHHEZ MHAIMZ M ACEH

@ 0t L2 09 80 M MUMEIO Z=CHHFA DRCH
SEAM 2Dl =0= for SHA0 FE0IX HESZAMN of SHA
to R &Lt

® Jde +22 FHiz2 s =t HEsS Mol
Ol24 12AHE e AldetE & = U
Ct. has came — has comeg MOt

o
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2H5. Choose the pair of words that are closest in ZAHI5.
meaning to the underlined words. @
. UEEl non-existence £ Z1i stupefaction Z® =2 rejoins I3I5tCH frail
In one picture, I could read my non-existence in 5128t nurse AE5ICH assertive #Hald  gentleness <OHe
the clothes my mother had worn before 1 can congruence 2 Xl being =M grief Z death.”
remember her. There is a kind of (A)stupefaction in (A) (B)
seeing a familiar being dressed differently,” writes ® amazement =2 discrepancy ~ E2YXl, 2z
Roland Barthes in Camera Lucida as he searches @ wonder Folze distinctiveness SS&
through family photographs from before his birth. In ® happiness = harmony el
that single picture, Barthes tells us, the young child @ astonishment =2ts accordance 2X, =8
rejoins the frail old woman he nursed through her ® contentment 2% conformance ~ Xg, &
last illness: “She had become my little girl, uniting P <5 AROIAN UOF D= J| LU W oloiLor 2o

& AnE Fo
for me with that essential child she was in her first =] 2H U2 2ME & QUACH A=s =M ¢z 22 2
photograph.” There he finds his mother’s assertive 2 fls A2 39 (A)ia*go‘oﬂ etil Roland Barthes=

. . . “C Lucida’2t= 19 MMOUA 12 =4 0|&o IIZAEES &
gentleness, her kindness. There he finds not only his amera Lucida et _J A Ol A | [t J
BA 22 MCH O AR 8 Z0IA, Barthess O{210t010F 258 E O

0 "

mother but the quality ies of their relationship, a Xt He o 5I%s LOHet MEISHtHE HS L20H Z5in UACH 2

(B)congruence between “my mother’s being and my He Lo ofal AETJ S0 X AIROIA OMS = Lo olol2M U

grief at her death.” o SLAl ED JAUCH AHIIM D= KNIl (HLIS &AHE 0t &E
s ZAHSC O= ORUA Xalel HoiLE otliet QS A0S 2
o 224, & U oiUcte &MY QS =30l e W &3 Aol

(A) (B) ool o=
(B)LXIS &LASH =T
amazem "

@ ent discrepancy (k] (A) stupefaction Z#&=2t, LiX4l = astonishment

® wonder distinctiveness (B) congruence 2 XI, Xl = accordance

® happiness harmony

@ astonishment accordance

® contentment conformance
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2M6. Where does the given sentence best fit in ZHl6.
the passage? @
I 1 d h h . 1 indeed detection Xl are subject to ~5tJ] &Ct malfunction JIsE2¥
t eventually turned out that the signal was indeed a ambiguity 258 interpretation a4 at least 0 & general &z
false alarm due to human error: a computer watch officer Y& A2t Under-Secretary of Defense =gxtz
operator had by mistake inserted into the U.S. ICBMs CHS2+ B 0IAFY conclude ZE2 UW2lCh awaken WRCH
o1=

eventually 2= turned out Z+HEICt due to ~ 20 insert &
Ch simulate 2oA&ES06ICH launch 2AF, &2 misidentify 20156tCH

algorithm O AtEEA] incidents AFA illustrate A HSHC

warning system computer a training tape simulating
the launch of 200 Soviet ICBMs.

unambiguous st

Missile  detection  systems, like all complex il (12 2= =88 J1as OIEJINZ DAY 2N AIARS JIs22D
technologies, are subject to malfunctions and to disdol @sstol Lars wI| HC. Rels 0= 22X AIAHANA U2
ambiguities of interpretation. (A) We know of at Za AN OJHe 2RE JEE 20 QCH MEEH, 19794 11€ 9¢ 0l=

GRAANZACZ 22 S0/d 02 L2 A IR 2o el Helol
least three false alarms given by the American H B0 MEE 2Ol U ZAZEEN ARNA DIROZ2 Lo2s
detection system. (B) For example, on November 9, 2007HSl ICBMO| B2oICH” 2tD @eict. Jaiut 1 MAS 0] AsIt
1979 the U.S. army general serving as watch officer Y 2 UCHD ZEUHD, JHM HEl U222 IH HEES WX &
for the U.S. system phoned then-Under-Secretary UCH IEE HES F2X AUD LU0 ot Apiolg Z0|X|
of Defense William Perry in the middle of the night e E\?iELjéi‘ oluscs 822 o el 20 )@gga_ﬂ “f}

A ACH AFEH ZXNIL A2 A [CBM 200019 ZALS JtEst &
to say, “My warning computer is showing 200 ICBMs 2 HOIZE D12 ZE AAS HEEO &S A0IACH S21= 2HAIOH
in flight from the Soviet Union to the United 2R AAENAN e ERE AET ot 2D ACH 19958 L29|0]
States.” (C) But the general concluded that the 22 g0lM S32 ol A st H & 23! StLIE 2/ AIot 2llol
signal was probably a false alarm, Perry did not o e = ZD2S0 012 B2E0M LAE DAL 2080,

013 AINS2 =28 HS AAGID UCH FD ASE MK s

awaken President Carter, and Carter did not push
the button and needlessly kill a hundred million PP =oim =39 the signale (B)9 Li20i2 J2iE (Q)2Z0K M o

Soviets. (D) We also know of at least one false 513 CHAL O ©H0I2 (D)OIAl K= er=51D UCH

alarm given by the Russian detection system: a
single non-military rocket launched in 1995 from an
island off Norway towards the North Pole was
misidentified by the automatic tracking algorithm of
Russian radar as a missile launched from an
American submarine. (E) These incidents illustrate
an important point: A warning signal is not

unambiguous.

@ (A) @ (B) ® (©) @ (D) ® (E)
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2H7. Which of the following is NOT grammatically ZH7.
correct? ®
universal BH(LBHAOl dissatisfaction 28 nature &%, S4
]Ob satisfaction is not universal in middle adulthood. mount ZJI5tCH, <22C+ burnout AIZAI9  occurs LM5HCH
@OFor some people, work becomes increasingly disillusionment 2% frustration XZ weariness ZEi, I=2&
stressful as dissatisfaction with working conditions or involve HE&0otCH strikes Et25tCH idealistic 0l&& QI driven F&
. . 2 2# be overcommitted to XILIXIH &EGICH realization 14
with the nature of the job mount. @In some cases, T ) 3 Y
dent &8, 1, E& demoralize AlJIS MGHAIDICH idealism Ol &=

conditions become so bad that the result is burnout

or a decision to change jobs. Burnout occurs when

workers experience dissatisfaction, disillusionment,
frustration, and weariness from their jobs. It occurs
most often in jobs that involve helping others, and ®

it often strikes those who initially were the most

idealistic and driven. In some ways, such workers
and @the
realization that they can make only minor dents in

may be overcommitted to their jobs,

huge societal problems such as poverty and medical

care can be disappointing and demoralizing. Thus, ®

the idealism with which they may have entered a

profession is replaced by pessimism and the attitude
that it is

meaningful solution to a problem.

impossible to provide any kind of

Bl SH0I2 HolSo MYUEzs SEA
=}

9| profession &g replace WAMGSICH pessimism HI2F9|, SAF=
attitude Ei& provide M 30otCh
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£ = UCs A0l A Al MotZ 0l01E == ACH A
0l O 2ol FUE W It A Ola2 Hl2F22t 2HO0l CHet
0= HZHME HBHE =+ AUt =2 BHHA =L

&

=

FE2 2HML as 0I5tE HAPZ 2XU mount 2 A0l 0{A45H

mountE SAIE2 2& 0[R2 SAEO0 LT RAE =0t

dissatisfaction with working conditions or with the nature o

the jobeZ 0122 Fo SAIE &80l mounts 22 DOk

Ct.

® so ~ that 2119 22

@ =0l realization 0I0{ that 0I5t SAHO|
Ct.

® 2cie 2&2 they may have entered a profession with the
idealism Q!0 with 2t Hd&Atet Bt=&l= idealismS 2AUHPAIZ dt
RO LA FI2 221 2&0ICH 2SAle is replaced 0ICH.
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2H8. Which of the following is NOT true

according to the passage?

There is a mode of vital experience - experience of
space and time, of the self and others, of life’s
possibilities and perils - that is shared by men and
women -all over the world today. I will call this body
of experience “modernity.” To be modern is to find
ourselves in an environment that promises us
adventure, power, joy, growth, transformation of
ourselves and the world and, at the same time, that
threatens to destroy everything we have, everything
we know, everything we are. Modern environments
and experiences cut across all boundaries of
geography and ethnicity, of class and nationality, of
religion and ideology: in this sense, modernity can
be said to unite all mankind. But it is a paradoxical
unity, a unity of disunity: it pours us all into a
maelstrom of perpetual disintegration and renewal, of
struggle and contradiction, of ambiguity and anguish.

@ Modernity refers to a mode of experience that is
shared by people in the world.

® Modernity finds us in an environment that threatens
to destroy everything we have.

® Modernity separates mankind according to the
different geographical locations.

@ Modernity is a mode of experience that encompasses
life’s possibilities and perils.

® Modernity traverses boundaries of ethnicity,
nationality, and ideology.

ZXI8.

EB o

Ol %

GNCN®)

vital =28t perils & share 3R5tCt body &E, ==X
modernity U4 transformation 213} threaten ®&0olCt destroy
mHlGHCH  cut  across &S  0IXICH boundaries g9, ZA
geography Xl2l ethnicity 2/=4 nationality =% religion &1

il

ideology 0¥ in this sense 0l2120IA paradoxical H&HQI &
p

rl
b

& unity S& disunity £x3, 22 pour 20HZLCH maelstrom
250/, &gt perpetual Y&Ast disintegration &6, € and
renewal £&, 3= contradiction 22, gt8f, Bt ambiguity 258

anguish 118, 22l encompass SAMCH, Z&SICH traverse JI2 X
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2M9. Which of the following best fits in the blank?

The slogan “Global Britain” first gained currency in
the months after the country’'s vote to leave the
European Union in 2016. Theresa May deployed the
phrase five times when she addressed the
Conservative Party conference for the first time as
prime minister. Days later it was the title of Boris
Johnson’s first policy speech as Mrs May's foreign
secretary. What it meant in practice, beyond an
attempt to reassure Britons that Brexit would not
mean autarky, remained hazy. The idea is finally
being fleshed out. On March 16® Mr Johnson's
government  published  “Global Britain in a
Competitive Age”, a 114-page “integrated review” of
the country’'s foreign, security, defence and aid
policy, billed as the most radical such review since
the end of the «cold war. In many ways,

The text is free of the
ebullient jingoism beloved of Mr Johnson and his

cabinet. Many observers had anticipated a pivot away
from Europe, where Britain is locked in diplomatic
trench warfare with the EU, towards the rising
powers of Asia.

@ it defies expectations

® it gains popularity

® it conforms to Brexit

@ this subscribes to the party’s recommendations
® this overlooks the country’s economical situations

ZH9.

&

® e

®
L
e

Y
0 o ro o

o

-

02 02 {0
Ao

10

®
®

®

currency 25, StH deploy &IHWoHCH BHXIGICH phrase &=+, =8,

+ Conservative Party 2% conference 3|2 prime minister %=

4 policy speech XHHMAHA foreign secretary QIREEZ in

practice &M Z attempt A& reassure CHAIAIIICH & EolCH Briton

=0l Brexit R A EE autarky ZXA K& hazy s s, 258t
<

flesh out ?*AstotCt Competitive ZM A QI integrated S&&, 2&®

ol

b review 2&, B2, UlE security &2 defence ¥, 48| aid &
Z bill HI&EAOl DIotCH, Z2ESICH radical 2& X0l The text is free
of the ebullient E& X0l jingoism WS H=Fo, XN 2H=2

belove AtgotCt cabinet L2t observers & &1t anticipate 0l &at

r

Ct pivot SA&= trench warfare &#Z& powers 2= defies
expectations JIHE MWelCt conforms &S6tCH, H2CH subscribe
to S2l6tCt, JIS ottt overlook 2+utatHCH
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2M10. Which of the following is the most logical

sequence of the four parts to complete the

passage?

According to the theories of physics, if we were to
look at the Universe one second after the Big Bang,
what we would see is a 10 billion degree sea of
neutrons, protons, electrons, anti-electrons (positrons),

photons, and neutrinos.

(A) As it continued to cool, it would eventually reach
the temperature where electrons combined with
nuclei to form neutral atoms.

(B) But when the free electrons were absorbed to
form neutral atoms, the Universe suddenly
became transparent.

(C) Then,

Universe cool, the neutrons either decaying into

as time went on, we would see the
protons and electrons or combining with protons
to make deuterium (an isotope of hydrogen).

(D) Before this the
Universe would have been opaque because the

"recombination”  occurred,

free electrons would have caused light (photons)
to scatter the way sunlight scatters from the
water droplets in clouds.

Those same photons - the afterglow of the Big Bang

known as cosmic background radiation - can be
observed today.
A) - (B) - (C) - (D)
A)-(C) - (B) - (D)
) - (A) - (D) - (C)
C) - (A) - (D) - (B)
C) - (D) - (B) - (4)

=HI10.

EEB o

According to ~0il 2™ theories 0/& billion 10¥ neutrons &4

Xt protons 24Xt electrons Xt anti-electrons BHE X positrons
b Xt S 1Iatct
combine Z&035lCt deuterium =

N
S AR 8

photons Z Xt neutrinos &40IX decay #{Cf,

= A
ERaE

isotope S92 4 hydrogen
Xt

opaque =& Y8 free electrons A& scatter

=4

recombination IHZ &
cICt, Atetatch

droplets 222 absorbe &=#0lCt transparent & ons - the

nuclei neutral atoms

=X
=

afterglow of the Big Bang known as cosmic background

radiation - can be observed today.

REsl S2I8 0/201 23, 2ol 2oL 1 S0l TS 2FSUH 22
o B Ele A2 1009 O EAR, YAR, MK, SEIHAIX), 2
Xt Jeln =401Ktel BHCHICH

(C) DAtk AlZtOl XIol mat L2ls FI AoA SSXIF FXL &I
2 SULNL B HEGIH SaA(220 SRAL)E0CE 2 &
A Lt

(A) 2FJb HZ AODIISEA XL XD 50l S4 ANS HAG=
250 ol2H =Ct

(D) Of HZBOI LOILIDI & 2F= 2SHMS 2A0ICH HL0l 2E & 2¢Y
S0l Ak A2HES0l UHRTXIF L(ZFAN0| ARUGIEE ZhMS 21000
TS0t

(B) J2iLh Rt ®XIF E2E0 54 ANE FAGH 2 O 2F= 210
SYGHZICH
SFEHHP LAY LR EIWOl TZOI OlY SUS FE LsHUE
BEEC

] =020 9 Ns =2 259 =9 A0 MALASLZ O
Ol 230t Als atztol (C)Jb OI0IMOF 8t THS HZ6H Al (continued
to cool) Al=Cte (A)JF 2Ch 1 US UK HESOR 20| ARt
0f R0} SESEUHFUCIE (D)JF 2D 1 UOS NREXIL X SHS |
o E4E0 ST £2 SYHACHE (B)JF 2= 240l HWICH
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2M11. Which of the following 1is the most
appropriate title of the passage?
Human population growth, rising incomes and

preference shifts will considerably increase global
demand for nutritious food in the coming decades.
Malnutrition and hunger still plague many countries,
and projections of population and income by 2050
suggest a future need for more than 500 megatonnes
(Mt)

Scaling up the production of land-derived food crops

of meat per year for human consumption.

is challenging, because of declining yield rates and
competition for scarce land and water resources.
Land-derived seafood (freshwater aquaculture and
inland capture fisheries; we use seafood to denote
any aquatic food resource, and food from the sea
for marine resources specifically) has an important
its

role in food security and global supply, but

expansion is also constrained. Similar to other
land-based production, the expansion of land-based
aquaculture has resulted in substantial environmental
externalities that affect water, soil, biodiversity and
climate, and which compromise the ability of the
environment to produce food. Despite the importance
of terrestrial aquaculture in seafood production,
many countries - notably China, the largest inland-

aquaculture producer - have restricted the use of

land and public waters for this purpose, which
constrains  expansion. Although inland capture
fisheries are important for food security, their

contribution to total global seafood production is
limited and expansion
Thus,

recognizing that

is hampered by ecosystem
(and
land-based sources of fish and

constraints. to meet future needs
other foods are also part of the solution), we ask
whether the sustainable production of food from the

sea has an important role in future supply.

@ The Rise of Global Food Demand

@ The Future of Food from the Sea

® Climate Change and Biodiversity Loss

@ Food-producing Sectors in the Ocean

® Edible Food from the Sea and Marine Culture

SHI11.

EE o

population growth 7ZJt incomes

ol &

ol
=

preference &% shifts

I A=

PN
20l
decade 10¥ Malnutrition Z2& X hunger J|0} plague o 2
2|H ofCh, WE5ICH projection §99,
up sclt, SItABRIT
challenging 0ied@

813l considerably M demand %2 nutritious
H & consumption 48l Scale
food EXNH2

yield &

land-derived
2t A OHCH

competition Z® scarce 8|8 resources A& derive ZOLHCH
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=

decline rates s

0l2 aquaculture & inland WS capture
RIG RS HAlIGHCH, UEHHCH aquatic #=49|
has an important role =8 <& StCt food

SO, &% constrain 2&

land-based

land-based aquaculture has

QAL(R9)

affectgd &S OIXICH soil EY biodiversity 2024 compromise
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freshwater

fishery o1&,
off &
security Al&0t2 supply 22 expansion
QUCH  F*=6tCH 2 HIGHCH
production, the expansion of

Al
Al
denote

=2
=

marine

Similar to HI%8 other

resulted in substantial environmental externality
Z=AAIDICH EF8GICH Despite ~0l& 240t terrestrial aquaculture
ENN J104
limite MIStolCH hamper 2ol 6ICH ecosystem MEHH meet SZFAIIICH

20l I X
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2M12. Which of the following best fits

blanks (A), (B) and (C)?

in the 2H12.

statement

conservation

governments,

the law in court,

passed into law, would (A)

measures

organization Defenders
posted by

species and habitat,
species, and (C)

Congress is considering a series of bills that, if
changes to the
Endangered Species Act that could shift control of
to state
accelerate decisions about whether
species need protecting, and (B)
power to overturn decisions to lift or loosen species
protections, the Associated Press (AP) reports. Many
Democrats and wildlife advocates argue that the
proposed changes will put the world’s biodiversity at
risk. “The wildlife extinction package is an extreme
and all-encompassing assault on the Endangered
Species Act,” Bob Dreher, senior vice president of
conservation programs at the nonprofit conservation

Wildlife,

YubaNet.com.

create hurdles to protecting
citizen’s ability to enforce
while delegating authority for
species management to states - or even corporations
and individuals - that are ill-equipped to assume it.”

“These bills
discard science, increasing the likelihood of harm to

local

courts’

in a

%
!@@@@@

(A)
initiate
bolster
nullify

instruct

© e 60 0

institute

(B)
hinder
indulge
expand
widen

limit

(©)
rectify
remedy
ruin
block

undermine

EB o

Congress 2|3 bills B9 pass SHAIIICH initiate AIZEGICH
Endangered Species Act ZZ2JIZXY shift Bi6ICH & ES6HCH
conservation measures 25X Xl accelerate Jt=AI3ICH courts ©
& overturn S&C lift HoICH SoS2lC loosen - &tAHIGH

ct

the Associated Press (AP) ©28&3 Democrats @8I

i

[l

Y

advocates 85Xt argue =&0oICH, =MolCt biodiversity M2 Ch¥

e 0x

put at risk <0 WE2ICt extinction ZZ  package o

Ji o

all-encompassing &Z?IHQl assault =2, @  senior vice

i

president £3/& nonprofit Hlgel statement =% posted HAIE
discard telCt likelihood Jts4 habitat AAIXI hurdles 2ols
undermine #&56tCt, ~2 2 IHCH enforce TEGICE, ASGHCH

delegate <I5tCH, CH2lotCt authority #<$ management 22|

corporations &lAl, JI® be ill-equipped to ~&tJI0 &HIJt ot&l

assume (YLE) M &Ct

(&) (B) ©
initiate AlZatCH hinder 2 al3atCt rectify (Lt&2)4&35ICH
bolster XIXIGtCH indulge thtXICt remedy XlZ5tCH
nullify — TJ|8kCH expand & 35HCH ruin L XIC
instruct Jt23|Ct widen &3IC+H block  2Ct
institute @tSCH ZXGHCH limit  XI&tatCH undermine #|&5tC+

<2

| 2 o3l SaE B2 RIS
1501 CHet
clotl |18 258 ahMstHLE 2
MetAIZl= 28901 XS0l st

Associated Press(AP)Sl 2%
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2M13. Which of the following is NOT mentioned in

the passage?

people developing  gastroenteritis and

contaminated with a deadly strain of E.

their negligence had meant that run-off

people succumbed. In total,

5,000-strong population were infected in

couple of weeks.

In the first week of May 2000, unseasonably heavy
rain drenched the rural town of Walkerton, Canada.
As the rainstorms passed, Walkerton's residents
began to fall ill in their hundreds. With ever more
bloody
diarrhoea, the authorities tested the water supply. p”
They discovered that the water company had been
keeping quiet for days: the town's drinking water was
It

transpired that bosses at the water company had

coli.

known for weeks that the chlorination system on one
of the town’s wells was broken. During the rain,
from
farmland had carried residues from manure straight
into the water supply. A day after the contamination
was revealed, three adults and a baby died from
their illnesses. Over the next few weeks, three more
half of Walkerton's
just

a

@® when and where the incident happened

@ main causes of the disease outbreak

® compensation for damage by the water company
@ the number of deaths in the town

® the population size of the town

S HI13.

EB o

drench &% HAICt rural AlI22 rainstorms ZZ<2 residents A
oo

Zeltt
contaminate 2 AI9ICt

=
A fall il gol gastroenteritis 9/&¢< diarrhoea & At
authorities XY= deadly XI¥Hol
strain M2 E. coli H& 7 transpire #3{ XICt chlorination EAXe2l
gLt farmland =%
residue XDl manure HlE, HE contamination 2& reveal 3l
Ct succumb =C, 2=otC infec ZHAIIICH outbreak 2, =5

2000¢ 52 W F= HEM OHS2X LA %2 IO Wed LTS
WalkertonOlet= AlZ 0tS01 201 &ACH ZE Rt XILIIHAG F21S0]

S goll 2210l AIRZUCH dF O 22 AMZS0 A¥EY EE€S =
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wells 22 negligence Ei2 run-off
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2M14. Which of the following best fits in the blank?

In most instances, it is illegal for representatives of
two or more companies to secretly set similar prices
for their products. This practice, known as price
fixing, is generally held to be an anticompetitive act.
Companies that in this manner are generally
trying to ensure higher prices for their products
than would be generally available if markets are

functioning freely.

@ flout

@ scalp
® endue
@ collude
® censure

ZH14.
®

instances 0l illegal 280! representatives HE, =322 set &
ofCt practice 28 price fixing JI23 €& anticompetitive 28 =0l
ensure 2&0tCH available 0/1&Jts8t function JIsotC
@ flout ZE35HCH HIKCH
® scalp & JI=S ®IICH Z0tLH2ICH ST 6HCH
® endue (=endow) 538 S22 S0{5IC =CH
2ESICH

@ collude (=concurrent) 22,
® censure HItaICH SHBICH

HeEe 72, 2
PSS

J

Hol&e J1g tHEXSO! HiZelo 2 M32 oA

=
=
22 SYOICH IR E82e2 M Ues 0 28
o

2M15. Choose the one that is closest in meaning
to the underlined expression.

There is serious concern the poison may have been
moved somewhere that we don't know about by
other people who are at large and determined to
carry out an attack.

@ not disengaged

@ not yet confined

® disguised in group
@ vanished with people
® secretly camouflaged

ZHI15.
®

concern &e2f, 2& at large Ui, Ot& &E5|IX %2 determine Z4
Al
=

otCt carry out &&5tCt attack =2

il 0 =0l o1x =TSN 2D BAS yysAE OE NSO Ad 2200t
A2tE 23| EWECH

LS/ =E
22E= HEIIZ SHES = JUle=
at large OIMI=OR, 1A H3IX e
the opinion of the public at large &t =2 O
Her killer is still at large. 2J4& =92 Xt= 0H& &ol
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2H16. Which of the following is NOT 22X 17. Which of the following is NOT

grammatically correct? grammatically correct?
In Europe, rules on positive discrimination ®are The distance to the stars can seem unfathomably
being discussed in each country. The rules state that immense. Physicist Freeman Dyson at Princeton
@companies should give women @preference for suggests that, Dto reach them, we might learn
non-executive posts where there is no better- something from the voyages of the Polynesians
qualified male candidate, until women reach a total thousands of years ago. Instead of trying to make
of 40% in the boardroom. The draft law @®made it one extended journey across the Pacific, which
possible to fine the companies which ignore the ®@would likely to have ended in disaster, they went
rules. ®If endorsing, the rules will take seven years island hopping, spreading across the ocean’s
to come into force. landmasses one at a time. @Each time they reached

an island, they would create a permanent settlement
and then move on to the next island. He posits
@that we might create intermediate colonies in deep
space in the same way. The key to this strategy
would be the comets, which, along with rogue
planets that have somehow ®been ejected from

their solar systems, might litter the path to the

stars.
A16. ZHI17.
® ®
m positive &8, 2&A0l discrimination X2 state H256tCH m distance H2l unfathomably & % QIS&3EZ immense ZCHst
preference &2 non-executive posts Hl &&= qualified X+ voyages &oll Instead of &0 extended & ® & journey O &
2 XE male &4 candidate %2 boardroom &Y 4! draft &0t end ZLUCH disaster MY hop Z& FICH, =O0tCHLICH spread ZX|Ch
Z1 fine €32 =22l endorse £9Q5tCH come into force ~ (& landmasses Z&#st (Xl Each time ~& Of OtCt permanent &3
E-7AF MRAI) |SEHKCH AACH Mol gettlement H=X| posit JFAGICH, SHEXRCH intermediate &2+
MY o2 21204 HEs TS0 e 3E0l =95 D ACH AES AR 9 colony AQIX| strategy &2k, HE comets &l4 along with~1t
o Ol HISO0l 40%01 Z& WX SIAE OI&OIN O LS [AZ 2 B rogue (SHUA HOIALE) £X. 2W plancts 24
x uN =2} HIAQIZIO S MBS =0joF 310HD SI00 QUCH & somehow O{EHEX G6t0i, ALOIX eject FLGICH litter EL2|LCH,
B Z0l2 0l RS PAGHE JIYNN BIS PN & ASE 5D Y GiX=C path
Ch. o0l S8 ZF2 AHOl &AM A#EINXE 7EH0l 2 A0ICH RESE =OHXIQl Jele dlote & S HS2 O0Iol0kSHH ZUs S 2elCk
L] =AR=cz uiRdl ®o 2@ 23(If they(sthe rules) are Princetontistel £e2l&tktel Freeman Dysong2 20 SEatI|AHA
endorsed)lilM 250l R#EE £0Q5t= 20l oLzt sQE= He=2 +HE M ZolUAOISS BHESH s B0 SK 2l =3
A=0 HE| O endorsed 2 DHOF BHCH SHCH AIERCH2E OI0IE THYC=Z B2 HEYLS oL Lxdoz It
ZXNE= s =ote U, 052 0l & X 822 L Z&s o
22 5h B0l SHLA OJFCH & StUol =& Mot 2se g7 F
IS HAs 0l US €22 olsst2 . D= el sgst Al
oz 2F st 2 JIHXE 2E = UAS A0l2t HFFLCL. 0
Meko| Al GIHSQH, OS2 T 0IRE EHLHUA T2 2T
242 HHsy 8H SHX g0l 012 228 g5 £ JC

RES be likely to R ~& 24 20t
would like to R ~ ot AICH
?F oS HEE = A BHMOb Q0l0 LCH F HMeE A 2010 XX

=0
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2H18. Which of the following best fits in the
blank?

In the early years of Christianity, Easter was the
main holiday; the birth of Jesus was not celebrated.
In the fourth century, church officials decided to
declare the birth of Jesus as a holiday.
Unfortunately, the Bible does not mention date for
his birth (a fact Puritans later pointed out in order
to deny the legitimacy of the celebration). Although
some evidence suggests that his birth in
the spring (why would shepherds be herding in the
middle of winter?), Pope Julius I chose December 25.
It is commonly believed that the church chose this
date in an effort to adopt and absorb the traditions
of the pagan Saturnalia festival.

&

@® may have occurred

@ might not occur

® should occur

@ ought not occur

® could not have occurred

= HI18.

EEB o

Christianity JI=sw &1 Easter &% celebrate =5t5tCt declare

&1o15tCH mention A Z8ICH Puritans W& pointed out XI&&HCH
deny S &5t legitimacy &HCH4& celebration %36t shepherds X
Jl herd Jt52 2C Pope W& commonly 28892 adopt iHEiot
Ch, X2 ACH absorb E4#=0olCt traditions &S pagan O0luW%E

Saturnalia festival sA&Il

JISW =JI0le R0 28 SL0I/UACH o= M2 =5iotA &
UL AMIDI0 2t w3l HSEXS0l M9 SMds Zdz HdAsHI2
ZHIULL SHolT HSZ0Es o2 MU0l LIt AR ACH(LISOH =
WEE0l =ot0 MLHS 2O ol XXSH AAOICE) G=HAH &
Ol EHHGEXNE 2ECHE SHIE UKXICHY LXIDJIF SH20 LHE =
AE017) g 8222 1HE 128 2522 ML 0InES9 s4lH
HSS TYGIH E=dtdls 8o LEC2 WD 0 €2 JdeFt
MEEE dBtXo=z 2 JCH

Ol40b SR EHOIHEX 2201 HRO el Eas ==o Zaol
may have+p.p( ~FEXNT 220 2t ES0| EEHGICH
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2H19. Which of the following is true according to ZH19.

the passage?

Power is something we are often uncomfortable
naming and talking about explicitly. In our everyday
talk, power has a negative moral vibe: “power-mad”,
“power-hungry”, “power trip”. But power is no more
inherently good or evil than fire or physics. It just
is. The only question is whether we will try to
understand and harness it. In the culture and
mythology of democracy, power is supposed to reside
with the people. Here's my simple definition of power
- it's the capacity to ensure that others do as you
would want them to do. Civic power is that capacity
exercised by citizens in public, whether in elections A
or government or in social and economic arenas.
Power in civic life takes many forms: force, wealth,
state action, ideas, social norms, numbers. And it
flows through many conduits: institutions, organizations,
networks, laws and rules, narratives and ideologies.
Map these forms and conduits against each other,
and you get what we think of as “the power
structure.” The problem today is that too many
people aren’t able to draw, read or follow such a
map. Too many people are profoundly illiterate in
power. As a result, it has become ever easier for

®

Power #& uncomfortable 2# 8l name ZolCh explicitly 3jotH
moral EE X0l vibe =2, 290 power trip A2 Al no more ~
than ~Jb OtLIZIE ~JF OF-l2dDt 2CH inherently 2¢ci, dANSZ2
question &X harness O0I835tCH, 0t mythology &g, S is
supposed to ~otJI2 EHUCH reside HFo6tCH Z=MGHCH definition
&9l capacity =& ensure 2&56tC Civic power is that capacity
exercised by citizens in public, whether in elections or
government or in social and economic arena &J|&, @< state
action =Jtti4t ideas, social norms 7% numbers. conduit &g
I (A0 Lt2&)T & institution J|2 organizations 2 narratives
2 ideologies 0I'¥ map ZAIGICH think of A as B AS Betld A2tat
Ct draw ZJeICt follow H2CH profoundly & <@3atH, 20| illiterate
2AISH wield #S2CH AFE56ICH disproportionate £z &0l fill
M<CH void Bl 32 ignorance 2X majority Ct=, %2

HE0l2ts SH0e B 20t YIotH Lot SESH HAOICH LAaH
SHlA e TeAez fFA s ECh ol 01a, A= =
Zgl, A9 WAl S0l I GISO0ICH. 2Lt AES =20IL SelstHE
O REMDJE EOLE Lh 242 OtLICH HH¥E OM A2 =
M= <2t 22 0lcHct]) ol&sctei) =g 2A0ILk? OtLILE? Ol
Ch. 2I==2lo 2352t sS85
JO0ICH LD M2ot= AA0Ost 2test Hog Wed=Alh - A
240l Hietes U2 O2 AIZE0| #SHHHB ot sZOICH Al
2 diL FRUA E= AMEA el ZHA JAUAHME, SHA
Al2I0I Ofch SAISlE SO0ICH ADIMENAM A2 0l HES
Ch: ZHE, 2, 204, 018, Atsl® 7Y, =X Ol 0242 o

HEIE Soi SECH J1&, 22, UWEXAD, 8 tet olg. &
2
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those who do understand how power operates in TGHCH O 2T AISMBON 220l EH HSFHET OIGHEHE AFRS
civic life to wield a disproportionate influence and fill 0] STEHO AsAS WASD 140 DX Qs MHL HIES S
the void created by the ignorance of the majority. JI0t HH= AT

Ao 0l HENQ MLYXE ZAGHH AHREE LA 2t T
® Power is the word that is widely welcomed and O ze wp Bum HOSH E2E4 o= 200/0
comfortably discussed. @ 02l NPISe o =2|E EB5D 0188 4+ As A2lS XD YT
@ We citizens do not have the right to discuss and @ AeiEEe ZRo 2elS0l F2 BAs= sHOI
harness the logic of power. @ LAMBOA, CH40 AFRSS ANBIRAS SHoPH QA4lcts 0l AL
® HHO HENQA MY HHE LW Ao RXE Holotell =32 =0

® Civic power is the capacity mainly exercised by
officials in the government.

@ In everyday life, the majority of people tend to
skillfully map the civic power.

® Relations between the forms and conduits of power
help identify its structure.
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2H20. Which of the following is the most logical ZH20.
sequence of the three parts to complete EBl o

the passage? 015

In contrast to a growing number of scholars in other
fields, economists have contributed relatively little to
recent critiques of consumer society. With a few
notable exceptions, contemporary economists have
been hesitant to entertain questions about the
relationship of consumption to quality of life.

(A) Economists, moreover, are typically unwilling to

engage in critical discussion of values and ik
preferences. In the absence of such discussion, it
is easily assumed that the existing configuration
of consumer choice is optimal. (@
(B) Otherwise, it would not be occurring. Actually the
implications of the model are even stronger, as (B)
we shall see.
(C) Their reluctance is not difficult to explain. Most (A)
economists subscribe to a model that holds that
as long as standard assumptions are satisfied, o

consumption must be yielding welfare.

@ (A) - (B) - (O
@ (B) - (A) - (O)
® (B) - (C) - (A)
@ (C) - (A) - (B)
® () - (B) - (A)

In contrast to ~3t BtHZ scholars &t fields £0F contribute JI
OiotCt relatively &CHE S92  critiques BIE notable FS&0tst
exceptions 02l contemporary &0H2 hesitant FM3ICH entertain
2HorE0ICH,  &OisiCt  consumption  4Hl  quality &  Their
reluctance FXM&, OtXIRoi & subscribe to S2otCt, F=36HCH
hold JtXI) RUCH as long as ~ot= &t standard assumptions JH&
yield ing welfare.(B) Otherwise, it would not be occurring.
Actually the implications & 2|, LHZ moreover H<0| typically &
8x8o=z be unwilling to otXl #2921 &Lt engage in ZAtotCh

preference &S absence £ assume Jt&ESHCH configuration &

Ef, BHXlI optimal X9, £&9|

Eb 202 SIS0l s0HUD A= BHEHU BHMENS2 Al ALSI0 CHS
Z29 HITOl CHoll &AHES=2 HO JIGGHA ROHCH FE =58 o
St CIAALEUAM, S0 ZMESXSS &2 D AdHlQl A2 e
o288 2ots0l2 =Mool =t

Os9 FHEs #Hs6hgt gR 20 e dHEse I
Ol DIHO0| QHEGlE & AHlE BIFEAl SXE UEN Hile 220 =9
St UI| MOICH

DX §(0HE, O 22 JoLX $=Ch AMY 220t B X MEy 29
of WZEE Qo= o= 2ottt

C=0l ZHNSS LER2 X2t 4500 tHet 8iEA =20 ]
D otAl %1 QUCH O =90t LOLIX &S M, JIEQ AHIX HEH9
SEle X022 HH A =

2 DINUSHNA BHEXNSO0l FXM(hesitant)stCt] 2%
09 FHMgeHreluctance)2 XI& =50 AD (C)°f 2HOUMA a
model 2 (B)UWIA the model 2 XI& =25t JUCH 21 (A)Q

moreover2 &tXtol £ 2 S48 &%otl UCH
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2H21. Which of the folowing best fits in the

blank?

Black Death, pandemic that ravaged Europe
between 1347 and 1351, took a proportionately
greater toll of life than any other known epidemic
or war up to that time. The consequences of this
violent catastrophe were many. A cessation of wars
and a sudden slump in trade immediately followed
but were only of short duration. A more lasting
and serious consequence was the drastic reduction
of the amount of land under cultivation, due to the
deaths of so many labourers. This proved to be the
ruin of many landowners. The shortage of labour
compelled them to substitute wages or money rents
in place of labour services in an effort to keep
their tenants. There was also a general rise in
wages for artisans and peasants. These changes
brought a new to the hitherto rigid
stratification of society.

@ fluidity

@ violence
® medicine
@ boundary
® monarchy

S=H21.

EEB o

Black Death EAlY pandemic Of S&#Y ravage ItSHCH

proportionately HlgI&22 toll of life AFZXtCl & epidemic &Y
& to that time JWMHA consequence Z 1, 2L violent Z2 X0l
al2tst  catastrophe M cessation Xl slump &AM trade 2
immediately ZAl follow OIZ2C duration X%, £% lasting Xl
MOl serious &5t drastic 2 M8t reduction 24 amount & land
under cultivation 2=l @ due to ~ 20 labourers =Skt
prove EHEC ruin £, IZ landowners X3 labour &S
compell ~ to R ~rk ~ot&== ZM&6tCH substitute CHXIGICH wages
212 money rents Al in place of HAIM tenant AZQl, ALKt
rise in wages &304 artisan JI£X, =83 peasants =2
brought JtM2Ct hitherto XIZ2MX  rigid 2408, Cctost
stratification A&
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2H22. Which of the folowing best fits in the ZH22.
blanks (A), (B) and (C)? ®

. . . . disinformation JIMAE exploits 0I5t attention-driven ZAIS
Modern online disinformation exploits the FHACZot= power SHEE ZZotCH currently 8 amounts
attention-driven business model that powers most =, & grab &Ch capture 2&C, &S50 paid advertisements
of the internet as we currently know it. Platforms 2ZD  is gamed FBICH, #FECH algorithms 2DN2IE, o4t

Rl

like Google and Facebook make (A) amounts measure =Z3XGICH content W& emerges LIEILICH recommend
&0 worst JHE  LH tendencies H &, Jl& evolve & 3tatCh

of money grabbing and capturing our attention so _ o ! )
respond BFSGHCH stimuli Xt= detect EXIGHCH rabbit holes E7I2

they can show us paid advertisements. That (WHL2IEER),
attention is gamed using algorithms that measure Pl =0h 2oloiao A MBS 920 #I 9D AS=HH (2o ol
what content we engage with and automatically WE SX0IE BAS FTACE & AYRYS 0|2 22T HolA
show us more content like it. The problem, of = 22 ZUE2 RQXUSHH |4 FDE BHFIIRNA 2212 S
course, emerges when these algorithms automatically EZOF (A)OIDLOI0EE 28 E8 BiLh 1 2HE P20t FE 25 ZH
. ZJp 22X S 02 RAS ZHXE U522 O 20iFE 202
recommend and (B)____ our worst tendencies. E2 o/zd 4WEC. 2HE S8 0 LD2AB0| P2AY H X w2
As humans, we evolved to respond more strongly FES NE =250 BBOE O LM, 202N 92/ 2HH
to negative stimuli than positive ones. These U220 SEH 300 O Lot $HSHES As . 2S5 012
algorithms detect that and (C) it, selecting XS (C)BBIBI0, SBUE HS £WH E)2 292 Wras 2
iI=E Zch&E0

content that sends us down increasingly negative
.
rabbit holes.

(A) 2 HOIAS SS9 EHE0| Y2 =2 Ho=Ele UEol2te 2 8
(A) (B) (C) H 22 JACH oFXIeH D12 50 ©0idt T S0IIE %2 =0lete =
0ol € = Jt UCH
@ staggering  abridge underestimate (B) 2DRIB0l 219 SAX H@S MY 2 0jU O 2O Al2ACE 9
@ astounding compress enunciate 0I2A amplifyLt enlarge & CF & 200t JhM €2 Q@22
. . . S =EE .
® staggering amplify reinforce o
(C) gnelse o2t Ha2 IA5I0 20 EN2(HUES = ge
@ astounding  enlarge revamp R)0l BH210l WHESH BECE WB0I22 2ol L= Hu2 23
@ awesome compress underpin StCt= 2012 reinforcedt A oHCH
(A) (B) (@)
o staggering abridge underestimate
2022 2 oFGHCH kA EOLSHCH
@ astounding compress enunciate
=ct2 2 =otCH 2 I GHCH
® staggering amplify reinforce
022 SHOHGtCH 2 3totCh
astounding enlarge revamp
@
sete ECHoHCH JH & GHCH
® awesome compress underpin
ZELEOFSH 2= GtCt X XIGtCH




SHEZ OB WHT
2M23. Which of the folowing does NOT fit in the 2H23.
pasage? ®

. . fluctuating #3l5t= imminent 2%, 2028 dispute =MotCH

OFor at least 3.000 vears. a fluctuating proportion origins J|@ distinctive #g&l=, SS8b construction 244, =

of the world’s population has believed that the end
of the world imminent. Scholars dispute its
but likely that the distinctive
construction of apocalyptic narratives that inflects

is

origins, it seems
much environmentalism today began around 1200
B.C., the thought the
Zoroaster, or Zarathustra. @Notions of the world’'s

in of Iranian prophet

gradual decline were widespread in ancient

civilizations. ®But Zoroaster bequeathed to Jewish,

Christian and later secular models of history a sense

of urgency about the demise of the world. From

Zealots of Roman Judaea to the Branch Davidians,
so many believers have fought and died in fear and
hope of impending apocalypse, while some others
including Nazis and communists have adopted
apocalyptic rhetoric, again with catastrophic results
as prophecies of crisis and conflict inexorably fulfill

themselves. @Yet arguably similar rhetoric strategies

have provided the green movement with some of its

most striking successes. (®Eurasians have not

always believed that their world will end someday.

With this in mind, it is crucial that we consider the
past and future role of the apocalyptic narrative in
environmental and radical ecological discourse.

=0
SLEHQ

inflect Z2&AISIC
prophet OI21Xt Notions , g decline 22
widespread Z2l H& bequeath AHSoHCH Jewish SOiw Christian
Rl M2l urgency 2!
From Zealot 24l Roman Judaea 20t°] XItiE¢= | U Branch
Davidians Ct2' 1 impending %8 communists 345=2|X} adopt
THEYSICE rhetoric OIAFOI 7 catastrophic 42l prophecies 0
goxoz fulfill EFAl

£8810l similar rhetoric strategies &2f provide

apocalyptic narrative &3, 3=
O Al
Al

)

[ranian 0lgt2

secular HIZEwXQI, =8 demise ZY

crisis #1J] conflict 2S5 inexorably BIEAl,
JICt arguably
M2 35kCH
crucial SR8t consider 1245ICt radical 2& &0l ecological MEH]

green movement &AJAES striking XS, QlAFOI
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2H24. Which of the following best fits in the ZH24.
blank? @
Cells MIZZ foundation 2&, JI= genetic R&2 diversity Y4

share &R0lCt role 9& evolve & 3lotCh intertwin # & ol AHaHCH
viruses - with all their genetic diversity - may share symbiotic 2#° predator ZAIX prey 20/2 evidence A

SR=R

Cells are considered the foundation of life, but

in that role. Our p]anet’g earliest viruses and cells dependent 9JZZQ! Jost their autonomy AtF4 thrive B&EGICE

. . . . . . PNy i 1 /\};7& _i,‘\_
likely evolved in an intertwined and often symbiotic & Xtetlt parasite s on other cellscoevolution &S & 3 hosts
lati hi ¢ dat d Evid = adapt ZXS0olCt one-upmanship st AN, <2
relationsni (@) redator an rey. viaence even _ - . -
P b prey membrane NES receptor 2, 22|12 modify HAGCH 43

suggests that viruses may have started out as cells sHCH
but - This dependent B Mz 420 2202 KHNNY SEN ULES AU 8014 A
relationship began a long history of coevolution. 0 Y82 ZRENT 20 2 NP9 =I| H0lHAS} MEEs ZA
Viruses living in cells cause their hosts to adapt, and et solgte FHolD e BMote ZAZHAM NacietS 24010
. . AT HHOIZA S MS0ls MER AXZYOL CH2 MEO JIM46I0 o
those changes then cause viruses to adapt in a i} -
) ] AGIES XSHE0l Mot NS4S AUCHE SIHE YUCH 012 A=A E
never ending cycle of one-upmanship. NS Talets 2 oAl BWEOl SUCH MEOI AFS HIOIHAE XHAl
3

10

@ injected many primitive characteristics into early

rr

cellular ancestors

=
x
o
)]
(=
Hu
]
oo
G
0
10

® lost their autonomy as they evolved to thrive as

HoA BEE 21 @
parasites on other cells D e AN ENES =I| MES S0 =UAIZCH
® transmitted to humans via saliva in a mosquito's bite @ TE AIZOl J1dstel d@stes dataol et Hsds U
and gotten independent from them ® 219t 22 0 H(EIA)S SaHA A0H SHUDIUAN MEZRLE X
gt
\ .
@ handed over through a cell's membrane by using @ +2IHE ASHOZM HEUS S5 MU D XSO HEIACH
receptors and continually modified ® 238 HOIHAN =S50 0@ SEs FYNE AAGHH A

® exposed to a weakened virus and recognized that
specific invader
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2H25. Which of the following is the most ZHI25.
appropriate title of the passage? @

Variation #0| characteristic % inherited R&& identical £2&

2
Variation in a characteristic that is a result of 2 features S& egg cell Hx sperm cell X contains X & 5tCH
genetic information from the parents is called individual @12} fertilization & lobe 22
inherited variation. Children usually look a little like LRl S22 S2e 9F 82 st SAZ TEstns B2 |
their father, and a little like their mother, but they B H0igtd Bl HUHE 28 Ot o2 & S0k= o &l =X
will not be identical to either of their parents. This is O OMirLE &50F 0= S2F &8sl S200 &I &2 2010 01 &
i ; . WOt 2t2to] 2229E DNAY SEE SESZS ZoM 22| M0
because they get half of their DNA and inherited O UT9 IS 017ts SASS O LQH SF HUE mom g0
features from each parent. Each egg cell and each QICH EXQ SHAJF 2EEIH Col 0s Hasts O 2R 2= S
sperm cell contains half of the genetic information HEE M5 LE M MEI HAHECH 012t RS B019 WARE
needed for an individual. When these join at oA TEls & IRA, X2 72, 6 201 S0 .Ut g8 SA
SEE HHoleldl €40l EHRX HEXles RERE2RH RMELd=E KEL
fertilization new cell is form with all th neti
e ation a new cell is formed a e genetic o 2131019 B0l

information needed for an individual. Here are some . . . o )
E] inherited variation0l key word2A % 2Z0 1 HE0l AME

]
examples of inherited variation in humans: eye OIR% MAIDI SEok= 20192 SeXI0l 0 key worddt EEE @)

colour, hair colour, skin colour, lobed or lobeless L= [}
ears, ability to roll your tongue. Gender is inherited @ The Causes of Gender Difference g2 @9l
C s i ificati 229 =24
variation too, because whether you are male or @ Child and Parent Identification X2 222l
‘ e i It of th inherited f ® Genetic Identification and DNA ~ |& X+ &0ol0t DNA
emale 1S a result o € genes you inherite rom @ Inherited Cause s of Variation HOlo RME R0l
your parents. ® Cause and Effect of Social Inheritance AI2I® |S&A9 201 Z 1t

@ The Causes of Gender Difference

@ Child and Parent Identification

® Genetic Identification and DNA

@ Inherited Causes of Variation

® Cause and Effect of Social Inheritance




